Distance and Midpoint
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=5 ¢

number line

-
-

g
Pl

e

¥ Distance Formula

N ‘[Z)(z-)(m' +0N z-\lb'

Ex: Find the distance between A (2, 5) and D (-3, -4)
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Example when midpoint is given...

The midpoint M of AB is (3, 4)
I Ais (-3, -2), find the other endpoint
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Day 5 Segments

Wérm Jp' Have HW out!
Solve for the missing variable
1) 2(x+3)-4=5x+6
2) 4x-1 + 3x+6= 2(x.+ 4)
3) 4x-3+2x-7=9x+6
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(x+3)-4=5x+6

It -4 = 50
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2) 4x-1+3x+6=2(x +4)
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3) 4x-3+2x-7=9x+6
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SegmentAddition:
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hen AB+BC=AC.
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Using the diagram shown, find the value of x. |
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Day 5 Segments

an the diagram shown, find AB and BC.
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In the given diagram. L 15 the midpoin! of KM. Find the
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In the given diagram, Y is the midpoint of XZ = Find XZ
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1.) Using the diagram shown, find DE and OF
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